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Who among the following called the Revolt of 1857 a ‘National Revolt” ?
(a) Sir John Lawrence (b) T.R. Holmes
(c) W. Taylor (d) Benjamin Delisraeli

With which of the following was Sir Richard Strachey Commission related ?
(a) Education (b) Famine (c) Police Reform (d) Railways

Who called Mahatma Gandhi’s ways as Political Blackmail ?
(a) Churchill (b) Linlithgow
(¢) Lord Mountbatten (d) Mohammad Ali Jinnah

During Mughal period the term ‘Muzarean’ was used for
(a) Farmers (b) Slaves (c) Spies (d) Traders

Who among the following founded the city of Jaunpur ?
(a) Alauddin Khilji (b) Muhammad Tughlaq
(c) Firoz Shah Tughlaq (d) Ghiyasuddin Tughlaq

Dargah of which following Sufi Saint is not located in India ?
(a) Shaikh Moinuddin Chishti (b) Shaikh Fariduddin
(¢) Shaikh Nizamuddin Auliya (d) Shaikh Nasiruddin

Who started the tradition of Sajda and Paibos ?
(a) Itutmish (b) Firoz Shah Tughlaq
(c¢) Razia Sultan (d) Balban

In which language Ibnbatuta has written travelogue ‘Rihla’ ?
(a) Persian (b) Arabic (¢c) Turkish (d) Uzbek

The third Buddhist council was held under whose Presidentship ?
(a) Nagarjuna (b) Vasubandhu
(c) Moggaliputt Tissa (d) Ashoka

Gautamiputra Satkarni was the ruler of which dynasty ?
(a) Satvahana (b) Vakataka (¢) Chalukya (d) Kanva

‘Milindopanho’ was composed/written by :
(a) Nagsen (b) Nagarjuna (¢) Vasubandhu (d) Ashwaghosh

Who was the founder of Mohammadan Anglo Oriental College ?
(a) Sir Syed Ahmad Khan (b) Mirza Ghulam Ahmad
(c) Nawab Abdul Latif (d) Mohammad Ali
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Who among the following was not a part of the tripartite struggle in South India ?
(a) Pala (b) Pratihara (c) Rashtrakuta (d) Chola

By which one of the following Constitutional Amendments, the words ‘Socialist’ and
‘Secular’ were added to the Preamble of the Constitution ?

(a) 40™ Amendment (b) 42" Amendment
(c) 47™ Amendment (d) 52" Amendment

The Electoral College for election of the Vice-President of India consists of which of the
following members ?

(a) From Lok Sabha only (b) From Rajya Sabha only
(c) From Both the Houses of Parliament (d) None of these

Which one of the following Articles of the Constitution gives Parliament the power for the
formation of new states ?

(a) Article 1 (b) Article 4 (c) Article 3 (d) Article 5

Who among the following does not enjoy the Parliamentary Privileges ?
(a) The Members of Parliament (b) The President of India
(¢) The Cabinet Ministers of India (d) The Attorney General of India

How many of the following members from Rajya Sabha are there in Public Accounts
Committee ?

(a) 5 members (b) 7 members (¢) 10 members (d) 15 members

The joint session of Indian Parliament is presided over by whom of the following ?
(a) The President of India (b) The Chairman of Rajya Sabha
(c) The Speaker of Lok Sabha (d) The Chief Justice of India

Who among the following has the power to appoint the members of State Information
Commission ?

(a) The President of India

(b) The Chief Central Information Commissioner
(¢) The Chief Minister of the State

(d) The Governor of the State

Which one of the following Articles is related with Fundamental Duties ?
(a) Article 40 (b) Article 48 (c) Article 51 (d) Article 51A

Who among the following is called as ‘Prince among Travellers’ ?
(a) Fa-Hien (b) Hieun-Tsang (c) Barbosa (d) Al-Biruni
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23. The National Commission for Scheduled Castes presents its annual report to whom of the
following ?

(a) NITI Aayog (b) The Election Commission
(c) The Home Minister (d) The President

24.  Which one of the following Articles states for the Uniform Civil Code for the citizens ?
(a) Article 43 (b) Article 44 (c) Article 47 (d) Article 48

25. In which of the following years, the new Consumer Protection Act was passed in India ?
(a) 2016 (b) 2019 (c) 2020 (d) 2022

26. Who among the following decides the disputes arising in the election of the President of

India ?
(a) The Election Commission of India (b) The Supreme Court of India
(c¢) The High Court of any State (d) The Cabinet of the Centre

27. Who among the following is the Chairperson of ‘NITI Aayog’ formed in 2015 ?
(a) The CEO of NITI Aayog (b) The Minister of Co-operatives
(¢) The Prime Minister (d) The President of India

28. Under which one of the following Articles, the annual financial statement known as Budget
is presented in Parliament ?

(a) Article 111 (b) Article 112 (c) Article 115 (d) Article 116

29. How many of the following members are nominated in Rajya Sabha by the President of India ?
(a) 21 members (b) 15 members (¢) 12 members (d) 10 members

30. Article 280 of the Constitution is related to which of the following ?
(a) NITI Aayog
(b) Finance Commission
(c) National Commission for Scheduled Tribes
(d) Election Commission

31. Public Interest Litigation (PIL) is also known by which of the following other names ?
(a) Social Action Litigation (b) Social Interest Litigation
(c) Class Action Litigation (d) All of these

32. For which of the following age groups of Children, Article 21 A makes provision that the
state shall provide free and compulsory education ?

(a) For age group of 3 to 14 years. (b) For age group of 4 to 16 years.
(c) For age group of 5 to 15 years. (d) For age group of 6 to 14 years.
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33. In which of the following years, the Intellectual Property Right was passed by India ?

(a) 2006 (b) 2010 (c) 2012 (d) 2016

34. In which of the following years, the 73" and 74" Amendment Acts were implemented in
India ?
(a) 1991 (b) 1992 (c) 1993 (d) 1994

35. The ‘National Institute of Rural Development and Panchayati Raj (NIRD & PR) is located
at which of the following places ?

(a) New Delhi (b) Lucknow (c) Jaipur (d) Hyderabad

36. In which of the following parts of Indian Constitution, the provision for setting up three tiers
of Panchayats is provided ?

(a) Part-VI (b) Part-VIII (c) Part-IX (d) Part-X

37. On which of the following days, the National Panchayati Raj Day is celebrated ?
(a) April 24 (b) May 24 (c) November 26 (d) December 26

38. The National Rural Livelihood Mission is now renamed as what of the following ?
(a) Pradhan Mantri Antyodaya Yojana (b) Deendayal Antyodaya Yojana
(¢) Shyama Prasad Antyodaya Yojana (d) Vivekanand Antyodaya Yojana

39. ‘Calories intake standard’ for the measurement of poverty line was introduced by whom ?
(a) D.T. Lakdawala (b) Prof. Suresh Tendulkar
(c) Dandekar & Rath (d) Planning Commission

40. Micro Units Development Refinance Agency (MUDRA) is related to —
(a) Large Enterprise (b) Small Farm Enterprise
(¢) Non-farm Small/Micro Enterprise (d) Medium Enterprise

41. The objective of ‘Make in India’ programme is —
(a) To boost up manufacturing sector and reduce imports
(b) Modernization of Agriculture
(c) Sustainable Development
(d) To check Migration

42. The renamed Untouchability (Offences) Act, 1955 is now known by which of the following
names ?

(a) The Protection of Civil Rights Act, 1955

(b) The Protection of Scheduled Caste Act, 1955

(¢) The Protection of Scheduled Caste and Scheduled Tribes Act, 1955
(d) None of these
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43. What is the difference between GNP & GDP called ?
(a) Depreciation (b) Net Indirect Taxes
(c) Subsidies (d) Net earning from abroad

44. In which year was the “Namami Gange Integrated Conservation Mission Programme”
approved by the Government of India ?
(a) June, 2014 (b) July, 2014 (c) June, 2015 (d) July, 2016

45. Which one of the following pairs of crops in India is the most water-gugging crops of India
that depend heavily on ground water ?
(a) Wheat and Millets (b) Maize and Sorghum
(c) Rice and Sugarcane (d) Rice and Maize

46. Banj (Oaks) and Chestnuts are the predominant species of which of the following vegetation-
zones ?
(a) Sub-Tropical Dry Evergreen Forest
(b) Sub-Tropical Hill Savanah Forest
(c) Himalayan Wet Hill Forest
(d) Western and Central Sub-Himalayan Forest

47. Which one of the following is not a cash crop of India ?
(a) Sugarcane (b) Cotton (c) Jute (d) Wheat

48. Black cotton soils are extensively found in —
(a) Uttar Pradesh (b) Maharashtra (¢) Tamil Nadu (d) West Bengal

49. Chambal river is the tributary of which of the following rivers ?
(a) Betwa (b) Indus (c) Yamuna (d) Ganga

50. In which of the following states is the Singrauli Coal Mine situated ?
(a) Chhattisgarh  (b) Odisha (c) Jharkhand (d) Madhya Pradesh

51.  Which one of the following is also called Sahyadri Hills ?
(a) Shiwalik Range (b) Western Ghats (c) Mahadeo Hills (d) Vindhyachal

52. Which of the following states of India has the literacy-rate of more than 90 percent as per
2011 census ?

(a) Tripura (b) Goa (c) Mizoram (d) Tamil Nadu
53. Which of the following countries shares its maximum border with India ?
(a) China (b) Bangladesh (c) Nepal (d) Pakistan
54. Who was the Chairman of the committee constituted for the ‘Tax Reforms’ in 1991 ?
(a) Dr. Manmohan Singh (b) K.R. Narayanan
(c) R.J. Chelliah (d) S. Tendulkar
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Which of the following states does the Tropic of Cancer not pass through ?
(a) Jharkhand (b) Chhattisgarh (c) Tripura (d) Manipur

The ‘Bangar’ of the northern great plain of India is —
(a) Wide Marshy Tract

(b) Composed of old alluvium

(c) A narrow belt along the foot of the Shiwalik

(d) Composed of newer alluvium

Which one of the following is the largest river basin ?
(a) Narmada (b) Cauvery (Kaveri) (c¢) Tapi (d) Mahanadi

In the Koppen’s climatic classification, ‘Aw’ represents —
(a) Semi-arid Steppe type (b) Tropical Savana type
(c) Hot Desert type (d) Monsoon type with dry winter

In which of the following years did India’s first census take place ?
(a) 1860 (b) 1872 (c) 1890 (d) 1891

Which one of the following states of India has highest percentage of Scheduled Tribe
population as per 2011 census ?

(a) Odisha (b) Madhya Pradesh (c) Rajasthan (d) Chhattisgarh
The southernmost point of India is —

(a) Dhanushkodi (b) Lakhpat (¢) Kanyakumari (d) Indira Point
In which of the following states is the ‘Zojila’ pass situated ?

(a) Uttarakhand (b) Himachal Pradesh

(¢) Jammu and Kashmir (d) Sikkim

In which of the following cities is the ‘Raja Bhoj’ airport located ?

(a) Udaipur (b) Bhopal (c) Indore (d) Raipur
Which of the following is related to the ‘Kuposhan Mukt Bharat’ ?

(a) NITI Aayog (b) Wardha Committee

(c) Agricultural Seva Aayog (d) Census Department of India

In which of the following years was the Indian National Food Security Act passed ?
(a) 2011 (b) 2013 (c) 2015 (d) 2018

Which of the following is the largest cultivable valley in the Himalayas ?
(a) Indus (b) Kashmir (c) Kangra (d) Doon

Which of the following districts of Uttarakhand has the highest apple production ?
(a) Uttarkashi (b) Almora (¢) Chamoli (d) Pauri

Which one of the following ranges is not a Trans-Himalayan range ?
(a) Pir Panjal (b) Zaskar (c¢) Karakoram (d) Kailas
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55. oheh (@1 I T B O Topee grent el eIt 7 2

(a) sr@we (b) BTG () Fgu (d) AT
56. WA oh IO oI9Sl HEH 1 G & —
(a) S gEIGEdt vt (b) T e & fafifa

(c) Teranferss i aetadt & Ter th whvi ugl () TH Soe 8 ffa
57. = 4 9 N qe8 91 ¢ 9fE 7 2

(a) T (b) wredl (c) drdt (d) wEME
58. hIUH o STeTaTy STeRTUT B < Aw’ i T g —

(a) G-I L oI (b) IWTRICE-ET T goof

(c) IV-HEEUAT I (d) 375 3fiq Afed AL g
59. fo=1 4 9 forg o9 d wrd <l gum ST <Y TS oft 2

(a) 1860 (b) 1872 (c) 1890 (d) 1891

o 0

60. 2011 I SFITUMT o SFTER, WRA & FHEfARad Tsi H & fohad STgiea STl shl e 1
Faifess e g 2

(a) 3ffeam (b) HEF T (c) USTEUH (d) weiEs
61. WA I gfarorad fag @ —
(a) GINGRITS (b) T@Iq (c) HAHHA (d) sf=T urgue

62. e eifdafrarsadfRae?
(a) ITETS (b) Temmeret ge= (c) T Ud HIHR (d) faferm

63. TSI HIo gas-37g! e § @ fopm T srafa 8 2

(a) 3R (b) WA (c) 3R (d) TR
64. T T AT FUE Gohd WRA® B TrETRE B 2

(a) ffa T (b) = | (c) N T AR (d) TR SO fordm
65. T 1 @ fopa oy vl e e e sttt qifcd femam a2

(a) 2011 (b) 2013 (c) 2015 (d) 2018
66. T 1 H HH H ferer 1 Ty o< F A At 2 2

(@) Ty (b) HTR (c) TSI d) g
67. IauEve & fm= 5t § 9 foret 99 b1 gaifres Icred g g 2

(a) JATHEA (b) IAHET (c) =HIeAm (d) Tt
68. T RN & @ S e e - femmeta Soft 7€ B 2

(a) TR YT (b) SR (c) HHIH (d) eTd
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69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

Vivekanand Parvatiya Krishi Anusandhan Sansthan is located at —
(a) Dehradun (b) Gopeshwar (c) Pithoragarh (d) Almora

Where is the Central Grain Analysis Laboratory (CGAL) located ?
(a) Chennai (b) Kolkata (c) New Delhi (d) Mumbai

Which state has the least availability of alluvial soil ?
(a) Punjab (b) Tamil Nadu (c) Madhya Pradesh (d) Bihar

Into how many macro agricultural regions has Randhawa divided India ?
(a) Four (b) Six (c) Five (d) Eight

Name the person who presented the scheme to link Indian rivers by constructing a chain of
canals in 1974.
(a) Dr.K.L.Rao (b) Capt. Dean Shaw (c) Ismael Serageldin (d) Dr. A.N. Khosla

Who is the project director of India’s Moon mission, Chandrayaan-3 ?

(a) P. Veeramuthuvel (b) Vikram Sarabhai

(c) Ritu Karidhal Srivastava (d) S. Somnath

Which of the following natural elements is the primary element used in computer chips ?
(a) Silicon (b) Carbon (c) Iron (d) Uranium

V2X technology, which was seen in the news, is related to :

(a) Computer Graphics (b) Automobile

(c) Printing currency notes (d) Electronic Gadgets

What is the full form of RADAR ?
(a) Radio detection and ranging (b) Radio divergence and ranging
(c) Radio detection and radiation (d) Radial distance and ranging

Which of the following is not an output device ?

(a) Monitor (b) Touch Screen (c) Printer (d) Plotter
Why is a Firewall used in computer ?

(a) For monitoring (b) For data transmission

(c) For authentication (d) For security

Who is the father of modern agriculture in India ?

(a) M.S. Swaminathan (b) Salim Ali

(c) B.V.Rao (d) N.S. Randhawa
Verghese Kurien is known for —

(a) Green Revolution (b) White Revolution
(c) Blue Revolution (d) Yellow Revolution
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69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

o= Tadi Y SEy™ wee ferd 2 -

(a) <BUGHH (b) TUZER H (c) Taurme o (d) IFeareTd

i 31T fereIsor JFITSITeT (CGAL) el fRa & 2

(a) =18 OEEISEIN (c) s feeedt (d) g5

forE U= H STeiig il <hl SUCTeudT T8 A & 2

(a) WS (b) dftrerTg (c) H=A W (d) fem
TTET + WRA i foha g8 iy Teil H faver fran g 2

(a) IR (b) B: (c) U (d) 313

39 e o1 T FARY, FE 1974 T T8 1 @ o FHiv gR AR Afeai i e i
TS SR <ht o |

(a) SI.H.TA. T (b) A SH T (c) THEA WM (d) Sf. T, WEel

T b <IgAT THH IgaM-3 o YRESHT feweh ik 8 ?
(a) M. fgyee  (b) forshm TmaTE (c) Tig wituet sfemeaa (d) @, T

o

feTRad STehfeh deell § | i |1 el faey o Sger Jreifies aw & 2

(a) Taferenia (b) TEA (c) & (d) Zfrem
FUTERI 8 ¢l T8 V2X dehieh Haf-d 2 :

(a) I AThad | (b) TS §

(c) el hiwuE (d) 3erRIe fioie &

TR (RADAR) =1 g0t 311 o1 8 2

(a) e feeam woe (b) e a7 wog i

(c) e feeam wos Weuzm (d) feae feda woe S
frafafiad # @ s a1 3eeye feama & 2 2

(a) T (b) TTTHA (c) fieX (d) AT
R H HRIETS 1 SUINT 1 Tl SITT § 2

(a) ufeehiern % forg (b) ST Tt o forg

(c) yHTOfiehtEr & fotu (d) geam = ferg

YR § 3MYFeh HY % Sk HiH & 2

(a) TH.TH. TTHHTE (b) el 37eft

(c) st T (d) TI.TE. Er

afiet SR I ST AT & —

(a) B shif=d & fotw (b) o s1fd & T

(c) el shifr =6 fow (d) dra sk 6 fow
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82. Which protocol is used for file transfer ?
(a) TCP/IP (b) SMTP (c) FTP (d) All of these

83. Which Logic Gate is known as Universal Gate ?
(a) AND (b) NAND (¢) NOT (d) XOR

84. Which of the following uses parasitic nutritive strategy ?
(a) Cow (b) Mushroom (c) Tape-worm (d) Lion

85. While cooking, the bottom of the vessel is getting blackened on the outside, it means that :
(a) The food is not cooked completely. (b) The fuel is not burning completely.
(c) The fuel is wet. (d) The fuel is burning completely.

86. Asexual reproduction takes place through budding in .
(a) Amoeba (b) Yeast (¢) Plasmodium (d) Leishmania

87. Which of the following is a/an plant hormone ?
(a) Insulin (b) Thyroxin (c) Estrogen (d) Cytokinin

88. Which harmful rays are absorbed by Ozone layer ?
(a) Gammarays (b) Ultra-Violet rays (c) X-rays (d) None of these

89. The phenomenon of electromagnetic induction is :
(a) The process of charging a body.
(b) The process of generating magnetic field due to a current passing through a coil.
(¢) Producing induced current in a coil due to relative motion between a magnet and the
coil.
(d) The process of rotating a coil of an electric motor.

90. Which of the following is/are not a/the renewable source(s) of energy ?
(1) Coal (i1) Bio-mass (ii1) Sunlight (iv) Petroleum
(a) Both (i) and (ii) (b) Both (i) and (iv) (c) Both (ii) and (iii) (d) Both (iii) and (iv)

91. The purpose of Choke in tubelight is .
(a) to decrease the current (b) to increase the current
(c) to decrease the voltage momentarily  (d) to increase the voltage momentarily

92. Electrostatic precipitation is most widely used to control .
(a) PM10 (b) PM2.5 (c) Sulphur dioxide (d) Oxides of nitrogen

93. Which of the following crops contains Nitrogen fixing bacteria ?
(a) Wheat (b) Paddy (c) Maize (d) Peas

94. Integrated Circuits have been introduced in which computer generation ?
(a) 2" generation (b) 3" generation (c) 1% generation (d) None of these
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82.

83.

84.

8s.

86.

87.

88.

89.

90.

91.

92.

93.

9.

TS Sl ZTEHL i o foTu fSh Tieehiet <hT J=IWT I & 2

(a) TCP/IP (b) SMTP (c) FTP (d) Ig |l
I T SAfSTeh N2 JHaHA e o A1 & JHT ST 8 2

(a) AND (b) NAND (c) NOT (d) XOR
=1 1 9 o |1 IS aives Wi 1 ST hT g 2

(a) T (b) TIEH (c) u-aH (a1 HfH) (d) I

GHT SHTd G0 S <h! doil S8t H hict! 81 Wh 8T, O 3Heh! Adais & 1 :

(a) WIS Ui €1 ek @I 7 | (b) 3o YUt & A W |

(c) Sa i @ | (d) 389 qUIcRIT 91 @R |

oo I STcAfieh ST TEare |

(a) ST (b) A= (c) TATSHIfSIH (d) <hemf=T
fraferfiga @ @ <19t uTeu gHH B 2

(a) A (b) TR (c) TEISH (d) HTZEREHA

TSI 9 g1 for BTfenTier TohTuti <1 37arenooT BidT & 2
(a) THTfRTOT AT (b) GO ROl s (c) WEE-FRTT T (d) TH A BE TR

IYAGTH IO Hl IR R

(a) Tortft fuvg =1 3TTafTd s <t wfshan |

(b) Toreh pecht § forega g YaTfed B o HHRT Faeh1¥ &1 I~ BT <hi TR |
(c) ST AT Jeih oh SiTal STTUFETH Tl < HRUT HScil H YN G Icq~ BT |

(d) fereft forega Wiex st et w1 5o T 6t TR |

1 5 8 S 1 /8 S Eia ARl T 8 Tehar/Tehd &/ 2

(i) prEem (i) Sa-9r (iii ) & =T bt (iv) Ueiferam
() (i) 3 (i) qHT (b) (1) 3R (V) G () (i) 3T (i) ST (d) (i) 3 (iv) SFT
TIFATSE | TIeh T 3¢ BATR |

(a) T %1 T & o foTu (b) RI = 9gM o 1T

(c) TIeeST oh &FfUTeh &9 § hH i o fAT  (d) dledst ohl &Ik &9 § §@H o foTq

TEORSRIA 3Ta&TUT T ITANT I &9 & o AT A B 8 |

(a) PM10 (b) PM2.5 (c) THL STIATRTSE (d) TATSIISH b STFETES
frefetiad o o fopd wae § TS FEiehtol hid aTel SaTY] 81d & 2

() T (b) & (c) eI (d) 7

sfeiee wfhe sheet <t forg it & wmT fopw 7w 2

(a) <@l didh (b) et fidh (c) Tae gl (d) 3T & B TE

EOE-II 17 Series-A



9s.

96.

97.

98.

99.

100.

101.

102.

103.

104.

105.

106.

107.

108.

Which book refers that King Subahu’s capital was Srinagar ?
(a) The Ramayana (b) The Mahabharata (c¢) The Raghuvansha (d) The Rig-Veda

Who founded the ‘Happy Club’ organisation ?
(a) Malati Devi (b) Teeka Singh
(c) Hargovind Pant (d) Govind Ballabh Pant

In which year the “Hill State Council” was established ?
(a) 25" June, 1967 (b) 25 June, 1968  (c) 25™ June, 1969  (d) 25™ June, 1970

With which community the ‘Dola-palki’ movement was associated ?

(a) Other Backward Classes (b) Kshatriya Caste

(¢) Scheduled Tribes (d) Dalits

Who among the following has been bestowed upon the title of ‘Pandit’ ?
(a) Nainsingh Rawat (b) Gabbar Singh

(c) Madho Singh Bhandari (d) Darban Singh

Who led the anti-mining movement of women of Khirakot ?
(a) Gaura Devi (b) Vandana Shiva  (c¢) Radha Bahan (d) Vasanti Devi

Where was the first recognized power-centre of Katyuris situated in Garhwal ?

(a) Joshimath (b) Karnaprayag (c) Uttarkashi (d) Srinagar

Whose reign has been termed as the ‘Golden Period of Kumaun’ ?

(a) Somchand (b) Jagatchand (¢) Laxmichand (d) Bajbahadurchand
Under whose leadership the first land settlement was started by the Gorkhas in Kumaun ?
(a) Bhawani Shah (b) Kirti Shah (c) Jogamall Shah (d) Fateh Shah
Which one of the following is not a marriage tradition of the Tharu tribe ?

(a) Apna-Paraya (b) Baat-Katti (¢) Chala (d) Pakki-Paudi
Which one of the following ornament is not worn in hands ?

(a) Dhagul (b) Gonkhle (c) Paunchhi (d) Murkhali

The songs sung by the people after Krishna Janmashtmi in the Kumaun region are called :
(a) Sayanasongs (b) Thulkhel (¢) Duda songs (d) None of these

In the famous Bagwal fair of Devidhura which among the following does not participate ?
(a) Lamgariya (b) Chamyal (c) Latwal (d) Wallick

‘Rahu Temple’ is situated at which of the place of Uttarakhand ?

(a) Dangsera (Paithani) (b) Thalisain

(c) Ranikhet (d) Pabau (Pauri)

. In which script the ‘Kalsi Inscription’ of Ashoka is written ?

(a) Kharoshthi (b) Aramaic (c) Brahmi (d) Devanagri
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95. TorE 71y H Ioor@ & Toh gaTg T <ht TereT o off 2

(a) THRO (b) WETHRA (c) THE (d) e
96. Buft FTE’ G <hl TATOHT forea <hl oft 2
ORISHECH (b) et Tz OREUEEAT (d) T Soey Id

97. “UEd U= aftwe” Y T fopg o g8 2
(a) 2530, 1967 (b) 25, 1968 (c) 253H, 1969 (d) 254, 1970

98. SIAI-UTAh!” STTCIeH foht THGT & TS AT 2
(a) I TUBET=am  (b) &b fa (c) IHMEd Sad (d) gferd

99, frmfaftga @@ form aftga i swfa s 2

(a) WRETIa  (b) TR faE (c) menfag wog  (d) e R
100. TReh1E 1 AiEATST o @ foRIEht ST 1 e fope foar 2

(a) T < (b) et f3ran ORLIEL] (d) Tt <t
101. He ITTEeh] T TEaTe H FH HI=IAT ST Ti-ohrg hal 1ed o7 2

(a) Sfivs (b) HUTIITT (c) IAHTEA (d) TR
102. feREeh IITEA-hTeT I “HHTS, HT TIUIHT HaT ST § ?

(a) EHE< (b) ST (c) weHTeg (d) SToTETg =i
103. AT, § TRE[ gRI I8 YU e fehdeh =qcd H STReY foarm T o 2

(a) YT 38 (b) I = ORELUEERI (d) a8 8
104. Tr=ferfga d @ S = vsh T U1 FATd forarg o 6 T8 g 2

(a) IYA-TT (b) STA-Hg (c) =rel (d) TFEhI-TIET
105. =1 O | 1A 91 3MYNOT E1 A & U1 ST 8 2

(a) WA (b) i@ (c) dit (d) gt
106. FH &F T F FTHTH & G AN gRI TR M 1A 1 HagATd &

(a) HIHTT (b) ITEA (c) gEIfa (d) T8 I HiE T
107. <Y < Tog sraTel Hel § ffeiiad U | ShiF TgwrT 181 hidl & ?

(a) STHIISAT (b) T=TA (c) ear (d) afetsh
108. ITUEUE ¥ fohe wH W g’ o1 wfex fedra 2 2

(a) SFERT (YY) (b) refiE

(¢) TrEa (d) st ()
109. 3730 1 ‘et rfiere’ forg fafy o ferar man 2 2

(a) TS (b) T (c) smeft (d) g
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110. Who wrote the book ‘Garhwal - Ancient and Modern’ ?

(a) Harikrishna Raturi (b) Chandra Singh Garhwali
(¢) William Sax (d) Pati Ram
111. Who is the author of the story ‘Garhwali Thaat” ?
(a) Govind Prasad Ghildiyal (b) Dayanand Bahuguna
(c¢) Sadanand Kukreti (d) Bhairav Datt Dhuliya

112. What was the original name of ‘Gumani’, a famous poet of Kumaun ?
(a) Lokratna Pant (b) Gangadatt Upreti (c¢) Taradatt Pandey (d) Shivprasad Dabral

113. Which one among the following is not a blown musical instrument ?

(a) Vinai (b) Bhakora (c) Ransimha (d) Nagfani
114. The Chipko movement began as a reaction against .
(a) Shell Sports Goods Factory (b) Simon Sports Goods Factory
(c) Springer Sports Goods Factory (d) Southampton Sports Goods Factory
115. When was the reservation for women increased upto 50 percent in Panchayati Raj in
Uttarakhand ?
(a) 2006 (b) 2007 (c) 2008 (d) 2009

116. Looking for the need of better management of forests in 1864 British Government
established forest department with the experts of which country ?
(a) France (b) TItaly (c) U.S.A. (d) Germany

117. The total number of seats for Uttarakhand in the Legislative Assembly of undivided Uttar
Pradesh was

(a) 20 (b) 22 (c) 24 (d) 26
118. The first Municipal Corporation to be set up in Uttarakhand in a purely hilly region is :

(a) Karnaprayag (b) Uttarkashi (c) Srinagar (d) Agustmuni
119. When was ‘Kumaun Water Rules’ introduced ?

(a) 1915 (b) 1917 (c) 1921 (d) 1936
120. The Gurkhas imposed tax on leather goods which was known as

(a) Salani (b) Maanga (c) Mijhari (d) Kushahi
121. Where were native doctors appointed by Traill in 1833 ?

(a) Nainital (b) Almora (c) Dehradun (d) Srinagar
122. ‘Said (Syad) Jagar’ reflects to —

(a) Kabirpanth (b) Hindu-Muslim harmony

(c) Saiddhali manuscript (d) All of these
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110. “TTGaTA-UfRRIUe UUg Hig Jeeh fore forelt 2
(a) BEWIE  (b) I g TEaet  (c) faferm =@ (d) dTR™

111. TG 31 HEM! o ogeh i & ?
(a) e yaTe fafesara (b) TATE SO

(c) TGS Hohiat (d) T Ta gfern

112. U o IT8G hid A" Tl ARATSIh T8 7 T 2
(a) R Id (b) TATIET It (c) dNIE 91U (d) TrEyETE satd

113. ¥ 5 | hIF 91 Teh a1y A1 ISR a1 9 T8 & 2

(a) foomg (b) 9B (c) ToTrErat (d) AT
114. Taueh! 3T=gie ferwreht Ifeifsharm o &9 H TREY g3 7

(a) T A TEH ] (b) HTET T T HH]

(c) Tomm wited 1@ %t (d) TP TEH TeH Herdt

115. ITRGUE o YR TS H AIGATAT o STREIT bl 50 TfTsTd deh el ST =T 2
(a) 2006 (b) 2007 (c) 2008 (d) 2009

116. 1 & S8 YU shl &Ll ol e@ent fsifest TR 3 1864 3. | forg 1 o formimsti hl Aee @
o T bt =T < 2

(a) %E (b) 3l (c) IR (d) ST
117. AT 3T I <61 faem a1 # ITU@ve o fore ot fehart €ie off ?

(a) 20 (b) 22 (c) 24 (d) 26
118. ITUGUE ¥ YUTd: Yo & § werfud foa ST arett wem m fm 2

(a) HUTSRTT (b) AN (c) TR (d) IFTEagH
119. “FHTS AR EA (FHS, el 7)) T FAITT Hd 53T 2

(a) 1915 (b) 1917 (c) 1921 (d) 1936
120. TR@ - THS h G T HL T, T8 el Srar o

(a) G (b) I (c) T (d) P
121. 361 < GRT 1833 3. H el it Fafercarnt i fgfara 58 2

(a) “aret (b) 3FeHIST (c) <lgd (d) R

122. B (F%) SR H itererd g & —
(a) HERGY (b) %@—!ﬁ[@'ﬁl THAT (c) dgreftuigfafy  (d) Fgaf
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124.

125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

Who among the following gets the credit of founding the Garhwal Regimental Centre ?
(a) Darban Singh Negi (b) Jaswant Singh Negi
(c) Kunwar Singh Rawat (d) Balbhadra Singh Negi

Which of the following glaciers is fed by Rakta-varna, Shwetavarna, Nilambar, Pilapani and
Chaturangi glaciers ?

(a) Bhagirathi Kharak (b) Gangotri

(c) Satopanth (d) Milam

The Lesser Himalaya is separated from the ‘Dun’ by which of the following ?
(a) Main Boundary Thrust (b) Great Boundary Fault

(c) Main Central Thrust (d) Askot-Baijnath Crystalline Thrust

Which one of the following towns of Uttarakhand came into existence first ?
(a) Mussoorie (b) Almora (c) Haridwar (d) Gopeshwar

Which of the following passes of Uttarakhand is located near the origin-point of the Kali
river ?
(a) Niti (b) Mana (c) Lipulekh (d) Milam

In which of the following years was tea produced in Uttarakhand for the first time ?
(a) 1830 (b) 1930 (c) 1859 (d) 1939

Which one of the following mineral resource reserve is related to Bajun-Khurpatal area in
the Lesser Himalaya ?

(a) Limestone (b) Dolomite (c) Soapstone (d) Magnesite

Which of the following river valley project is related to the Tons river ?

(a) Deval (b) Khodri (¢) Chilla (d) Kotli-Bhel
Which district of Uttarakhand is not situated along the International boundary ?

(a) Uttarkashi (b) Chamoli (c) Pithoragarh (d) Almora
Which of the following is the highest peak ?

(a) Draupadi ka Danda (b) Nandaghunti

(c) Bandarpunch (d) Chaukhambha

Which of the following National Parks is not situated in Uttarakhand ?

(a) Kanha National Park (b) Nanda Devi National Park

(¢) Govind National Park (d) Valley of Flowers

When was the first agriculture policy introduced in Uttarakhand ?

(a) 2008 (b) 2011 (c) 2016 (d) 2006

. Borax was imported by goldsmiths of Kumaun from which place ?

(a) Burma (b) Tibet (c) Rajasthan (d) Bhutan
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124.

125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

135.

frefaritaa 0 O ford TTeaet STHee e shl TATHAT <A1 9 STaT 8 2
(a) @A RET (b)) SHEa R (¢) FR g UEa (d) sTervg fag it

e & o o =Y ueh femeg wardet, voqant, sk, drardr va aqoft et gro afa g ¢

(a) WTiRefi @ (b) T (c) FAI= (d) forem
oTg fewmer &1 g’ | f 1§ fopwreh g0 ges fopn man & 2

(a) g Himr e (b) &g Hwr um
ORGETARE (d) ARSI fsheeaTsT U
IAEUE & I TR 4 9 % geuum Irfede ° 3Am 2

(a) Tl (b) 3FeHIST (c) BNgR (d) TR
ITRGUE o 77 U | W hiF il Tt o ITH-TUA o ehe fRaa g 2

(a) it (b) HM (c) Toqer@ (d) forem
frefafad o @ fore o SatrEve o =T SeaTe TS TR §31T 2

(a) 1830 (b) 1930 (c) 1859 (d) 1939
=1 4 8 S |1 i e g o7y feuTerd H Se[-GTaTd & 8 Sl B 2
(a) T HeR (b) SreirmTEe (c) Toered (d) HeaETEe
fr=1 =46 ard) aiESHTe 8 9 % e e § grefd g 2

(a) <o (b) @il (c) Taeem (d) HieeAl-u
TGS 1 1 G1 el Sr=ariga =i o @ fm 7 2 2

(a) JATHREA (b) =HIAT (c) Tueinrme (d) IrcHTST
frafafiga 7 9 o @ ge@ S=h = g ¢

(a) SUCIHISET  (b) T=arguet (c) TS (d) =@
frfaRaa T Semi 8§ 8 o STrgvs d fRa T8 R 2

(a) <hIgT UL ITH (b) =T <ot U T

(c) e TS 3TM (d) Bl i =T

@S | W HiY A e Ar I TE ?

(a) 2008 (b) 2011 (c) 2016 (d) 2006

HHTS: o TR <h G fohd &1 T SR 1 STRITT TR STTaT o7 2
(a) i (b) fereaa (c) T (d) M
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136. In the fourth ‘State Food Safety Index’ of India for the year 2021-22, what is the rank of
Uttarakhand ?

(a) 10™ (b) 8 (c) 7™ (d) s

137. ‘Operation Mukti Abhiyan’ in Uttarakhand state is related to —
(a) Ban on child labour (b) Freedom from drugs amongst youth
(c) Freedom from bonded labour (d) Freedom from child-begging

138. Which one of the following statement is not correct about ‘Deendayal Upadhyay Home Stay
Development Scheme’ of Uttarakhand ?

(a) This scheme was introduced in 2017.

(b) Fifty percent (maximum 15 lakh) subsidy is provided by the Tourism Department in
hilly areas under this scheme.

(c) Twenty five percent (maximum I 7.5 lakh) subsidy is provided by the Tourism
Department in Plain areas under this scheme.

(d) The objective of the scheme is to improve the economic condition of the local people
by providing self-employment.

139. What is the prescribed standard for supply of Clean Drinking Water Litre Per Capita Daily
(LPCD) in urban areas in Uttarakhand ?

(a) 110 litre (b) 115 litre (c) 125 litre (d) 135 litre

140. Which of the following officer is nominated as Nodal officer for the operation of ‘Pradhan
Mantri Kisan Samman Nidhi Yojana’ in Uttrakhand ?

(a) Commissioner and Secretary, Revenue Board
(b) Commissioner, Finance Department

(c) Finance Secretary

(d) None of these

141. When was the ‘One District Two Product Scheme’ implemented in Uttarakhand ?
(a) October, 2020 (b) January, 2021 (¢) October, 2021 (d) April, 2022

142. Where is the MSME Tool Room established in Uttarakhand by the Ministry of MSME ?
(a) SHDCUL, Sitarganj (b) SHHDCUL, Haridwar
(c) SHDCUL, Selaqui (d) SIHDCUL, Kotdwar

143. Which of the following ‘Agribusiness Growth Centre’ is established under Gramya-2
Project in Pithoragarh Division ?

(a) Nachni (b) Dobliya (c) Falyat (d) Ghiwara

144. In Uttarakhand Budget 2023-24, what was the estimated total expenditure excluding debt
repayment ?
(a) 366,179 crore (b) I 72,385 crore (c) ¥57,400 crore (d) 66,571 crore
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136.

137.

138.

139.

140.

141.

142.

143.

144.

I o A1 T @Tel Gafl Gaehleh' 2021-22 H ITRITE hi {eh 91 3 ?

(a) 10df (b) & (c) 74t (d) 5o
IAMEUE T | “ITRH o SR Frafa g -

(a) ST HSIgd Wk (b) I H T & gfaa

(c) =Y gl | Hfekd (d) sTa-fugmafa @ giea

IAUEUE hl EHEATA ST g AT (370 &) forepma aren o wew # frfefiea # 9 wm

HIHU HE TE B 7

(a) TE AT 2017 H TR 1 T |

(b) 3 TSI o =T Tie fram gy weidi=r &l | v wfawra (3tfeshad 2 15 @) 3HeH
IERIEIGIES

(c) 39 IS o Tiid WA faram g e & o v wfsra (31feeham 2 7.5 @) e
fpSmaT |

(d) 39 ANSHT hT IeT TRISHTR U Ukt LT oAt shi 3TTffeh ferfar bl g 2 |

ITrEvs H wel eEl U Wes W 9 61 3mgfd o1 Pl mee ot wfh safa ufa fe
(T i) F=ng v
(a) 110 @fteT (b) 115X (c) 125X (d) 135X

freferfaa o 8 ®F STUEve § TaHE fham s Y Si9mn o gate &g Aea stfeeei
fird fepam ST 7

(a) ST UF A, T IREG (b) 3gerd, fort fawm

(c) Tort wfem (d) 370 9IS T

IATEUE H ‘T Tt g1 IeuTe ANSHT el AT hl 7T 7
(a) 3R, 2020 (b) SHa, 2021 (c) 3R, 2021 (d) 319, 2022

TH.TH.UA.3. TATCId R STHREUE H UH.UH.UA S, ¢l & <hi TATIHT el hl T8 & ?
(a) Trespa, famrs (b) Tresd, BER

(c) Toesper, T (d) Tz, g

frferfiad # & oM 91 ‘HiY e foshm g’ TTRI- 2 IS 3 STaTd TR TR § T
87
(a) A=A (b) SiEferan (c) HAE (d) feremn

IATEUE F1E 2023 -24 H 0T TAHIT bl BISH, AT ol = TohaT o7 ?
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145. Arrange the following districts in the ascending order of density of population as per 2011
census :
(a) Chamoli, Almora, Dehradun, Haridwar (b) Almora, Dehradun, Haridwar, Chamoli
(¢) Dehradun, Haridwar, Almora, Chamoli (d) Haridwar, Almora, Dehradun, Chamoli

146. The trade between Uttarakhand and Tibet was closed after which incident ?

(a) Kargil War (b) Doklam Episode

(¢) Indo-China War (1962) (d) Indo-Pak War (1971)
147. Which of the following is not properly matched ?

(a) LD.P.L.—Rishikesh (b) B.H.E.L. — Haridwar

(c) B.E.L. - Uttarkashi (d) LV.R.I. — Mukteshwar

148. In Uttarakhand, which one of the following areas is not covered under the ‘State Integrated
Co-operative Development Project’ ?
(a) Co-operative (b) Dairy Development
(¢) Goat and Sheep rearing (d) Education

149. According to Census — 2011, what was the sex ratio in Uttarakhand ?
(a) 960 (b) 951 (c) 963 (d) 941

150. Which of the following departments is the nodal department for the operation of PM Kisan
Samman Nidhi Yojana in Uttarakhand ?
(a) Agriculture Department (b) Labour Department
(c) Planning Department (d) None of these

151. When was the first ‘Mining Policy’ in Uttarakhand State declared ?
(a) 2000 (b) 2001 (c) 2002 (d) 2005

152. Uttarakhand Start-up Policy 2023 has been launched to —
(a) promote Industrialization in Education
(b) professionalization of Innovation in Educational Institutes

(c) promote Industrialization amongst women
(d) All of these

153. Which of the following pairs is not correctly matched ?

(a) Centre of Excellence for Aromatic Crop —  Selaqui

(b) Aroma Park —  Kashipur

(¢) Soil Testing Laboratory — Bhawali

(d) Tea Factory — Udhamsingh Nagar

154. As per the India State of Forest Report-2021, which district of Uttarakhand has the maximum
percentage of forest cover area related to its geographical area ?
(a) Almora (b) Rudraprayag (c¢) Tehri Garhwal (d) Nainital
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145.

146.

147.

148.

149.

150.

151.

152.

153.

154.

11 9T T 201 1 3T SFITOMT o STTER, SIHEET O o TR shH H Saferd i

(a) =TI, JTCHTST, GG, BNER (b) ITCHIST, SRl BN, =Ml

(c) <BUE, ENGR, JACHIST, =T (d) BNER, JrcHIST, <l =Ml

ITTEUE 37 foresd o TeT B a7l SATIR 1 fohd T2 & Iv=Tq svg by T 7T 2

(a) HRATA TG (b) STHATH eIl

(c) WRA-<H Ig (1962) (d) WRd-9mh Jg (1971)
frafafiad 3 @ i @ gafea T 2 7

(a) 3321 H . ua. — fehw (b) t.ta.3.td. —BER

(c) o .3.ud. — It (d) 8. <. 37378, — eRawer

Iatrgve 1 fferRiad T 8 i A1 & TS Tmf=Id Heshiiar foshme aiEiemT & sTr<sifed T8 & ?

(a) TEHIT (b) g4 forhr (c) SR Tg US U (d) T

SFATOMT-201 1 o IR, ITUEE H fomaTa &= o ?
(a) 960 (b) 951 (c) 963 (d) 941

IATEE H I e T T ST 3 e 2 Aied o Heffea A a e an g ?
(a) Y forvm (b) =M fersrm (c) TR ferwm (d) 379 | IS T

IV TSI § YU @ i’ bl =wor 6l hi 718 7
(a) 2000 (b) 2001 (c) 2002 (d) 2005
ITTEUE T -39 HAifd 2023 & TS

(a) Torem o Safirar = seEn ¢ & ford |
(b) Nfereh TEATT T TR o SATEARHT o T |
(c) TfEeTa o s ST ! TcdTiEd i o ford |

(d) 3Tt

freferfad & & % a1 v g™ gafad & 8 7

(a) Y FHA IchEAT g ~  HATHs

(b) 3T Uk —  HRiR

(c) a1 TET JFRTRIAT — Tl

(d) = e - FumfiE TR

IRd TsF <l o1 FaRE-2021 % AR, ITREUS o fohd UG T IHh WHTITeTeh & o |Tve

IATeRIed &3 hl Tfdwrd Fdiieeh g ?
(a) IFcHISI (b) FGIAT (c) featt meam (d) Hrare
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Direction : The questions asked from 155 to 159 are based on the pie diagram given below which
represents the various sections of adults in a city regarding their employment. The total number of
adults in the city is 60,000.

155.

156.

157.

158.

159.

I : Employees in Public Sector

II :  Employees in Private Sector
III : Employees in Corporate Sector
IV : Self-employed

V  : Unemployed

What is the number of adults employed in the Corporate Sector ?
(a) 32400 (b) 19000 (c) 27000 (d) 9000

What is the total number of employed persons in Public and Private Sector ?

(a) 36000 (b) 45000 (c) 27000 (d) 34000

What is the number of Unemployed adults ?
(a) 12000 (b) 6000 (c) 3000 (d) 1200

If the total population of the city is 2.5 lakhs, what is the percentage of total population that
is employed in the Private Sector ?

1 2 1
(a) 30 % (b) 75% (© 115% (d) 155 %

What is the percentage of Self-employed with respect to all employed persons ?

1
(a) 51%% (b) 195 % ) 5% (d) 20 %
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e : 1559 159 T @ T oA A= fed 99 Fom W st €, S ush R o farfie o o st
TSR 1 ST & | TR T et FEehi hl T 60,000 7 |

I HESI-eh &F % hHar

0 fof & < e
[l : <HIARE & o HUAR
IV &R
Vo SR

155. HIANE &3 T YSHTR i It TIEh1 h! &I 1 & ?

(a) 32400 (b) 19000 (c) 27000 (d) 9000

156. ArdSIeh T 3t &5 B ISR i el ol ol T 71 2
(a) 36000 (b) 45000 (c) 27000 (d) 34000

157. SUSHTR I3%h1 h! 9T o1 & ?

(a) 12000 (b) 6000 (c) 3000 (d) 1200

158. AfE TR I ol THEEST 2.5 AT &, A ST &3 § USHR hiA FTet! SHEEAT T T fehdT & 2

1 2 1
(a) 30 % (b) 75% (© 115% (d) 155 %

159. TIUSHTR STl ST T IfeeTd ol USHIR aTet SAfHRTT o HTUS T 8 2

1
(a) 51%% (b) 195 % ) 5% (d) 20 %
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Direction : The questions asked from 160 to 164 are based on the table given below which
represents the production of different types of scooters in a company.

(Figures in thousands)

Types of Scooters

Year (in thousands)

P | Q| R| S| T

2015 | 180 | 60 84 | 100 | 76

2016 | 210 | 90 32 80 48

2017 | 135 | 30 44 95 85

2018 | 190 | 85 69 | 125 | 115

2019 | 260 | 95 | 120 | 80 | 120

2020 | 240 | 140 | 161 | 90 | 185

160. In which one among the given years the production of Type-S scooters remained maximum ?

(a) 2015 (b) 2017 (c) 2018 (d) 2020

161. What was the approximate percentage production of Type-P scooters in 2018 to its total
production over the given years ?

(a) 16% (b) 20% ) 23% (d) 30%

162. In which pairs of years the total production of Type-T scooters was three lakhs ?
(a) 2016 and 2018 (b) 2018 and 2020  (c¢) 2017 and 2020  (d) None of these

163. In which one among the following given years, the total production of all types of scooters
was minimum ?

(a) 2017 (b) 2018 (c) 2019 (d) 2020

164. In which one among the given years the production of Type-Q scooters is closest to the
average production of scooters by the company ?

(a) 2015 (b) 2016 (c) 2017 (d) 2018
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feE ¢ 160 T 164 7% I ™ wA H= < A wrfh W sl §, S wek w6 fafie R %
TRl % IcTE hl ST 2 |

(T B H)
Thell & THR
T (@ )
P | Q| R | S T
2015 | 180 | 60 | 84 | 100 | 76
2016 | 210 | 90 | 32 | 80 | 48
2017 | 135 | 30 | 44 | 95 | 85
2018 | 190 | 85 | 69 | 125 | 115

2019 | 260 | 95 | 120 | 80 | 120
2020 | 240 | 140 | 161 | 90 | 185

160. T3 T 3wt § & fohg a9 S WehR o Thedi 1 IcuTeH STereha™ T 2
(a) 2015 (b) 2017 (©) 2018 (d) 2020

161. P YhR < Theli T 2018 T IcqTeH 3eh ¥t {3 auT o et Icare shi T T Siferera & 2
(a) 16% (b) 20% (©) 23% ) 30%

162. Tored IS < J1 H T SRR o Whedl 3l el ScaTe oI T o 2
(a) 2016TI 2018 (b) 2018 W 2020  (c) 2017WH2020  (d) 3TH & his &l

163. Tr=feifaa fe w2 aut | @ for ush o weft TehR o Tl b et T =AW AT 2
(a) 2017 (b) 2018 (c) 2019 (d) 2020

164. T ™ aui § ¥ fopm 9¥ Q TR & Whetl 1 IcTeH HHUHT & Whell & Ed ITE & Tl
fepem @iz 2
(a) 2015 (b) 2016 (©) 2017 ) 2018
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165. How many new member countries have been included in the BRICS organisation during the
15" BRICS Summit ?

(a) 06 (b) 07 (c) 08 (d) 09

166. As per the sources of Ministry of Statistics and Programme Implementation, which of the
following states of India has the highest per capita income at current prices in 2022-23 ?

(a) Kerala (b) Telangana (c) Karnataka (d) Haryana

167. ‘Nari Shakti Vandan Bill” was passed by Lok Sabha with how many of the following votes ?
(a) 404 (b) 454 (c) 474 (d) 402

168. ‘Operation Ajay’ was launched by India to bring back its citizens from which of the
following countries ?

(a) Sudan (b) Ukraine (c) Israel (d) Russia

169. “Statue of Equality” was unveiled in Maryland, USA in honour of whom among the
following ?

(a) Mahatma Gandhi (b) Swami Vivekananda
(¢) Dr. B.R. Ambedkar (d) E.V.Ramaswamy Periyar

170. Recently Sangeet Natak Academy Amrit Award was given to 84 people by the Vice-
President of India. How many among them were from Uttarakhand ?

(a) 2 people (b) 3 people (c) 4 people (d) 5 people

171. Talisman Sabre-23 is a
(a) Bilateral Military exercise (b) Solar Mission
(c) UN Declaration (d) Lunar Mission

172. Who among the following was India’s G-20 ‘Sherpa’ during the 18" G-20 Summit-2023,
held in New Delhi, India ?

(a) Nirmala Sitaraman (b) Shaktikanta Das
(c) Raghuram Rajan (d) Amitabh Kant

173. The ‘Nomadic Elephant’ is a joint military exercise between India and which of the
following countries ?

(a) Bangladesh (b) Mongolia (¢) Turkmenistan (d) Japan

174. Recently, Indo-Canadian relations became bitter because of the murder of which of the
following terrorists ?

(a) Gurupatwant Singh Pannu (b) Lakhbir Landa

(c) Harvinder Rinda (d) Hardeep Singh Nijjar
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165. U<gd fsiod G e & S T/ Tire | fera 13 Ye&a <3l <! e fepa T 2
(a) 06 b) 07 © 08 ) 09

166. TIEIH! T HTIHA SR HATG o TAT o SFTER, I§ 2022-23 H 9N o =1 4 & 5
TSI | FaHH Yol T T safe 31 gaifers g 2

(a) T (b) AT (c) HACH (d) famn

167. <) wifea g Taees’ Arepayn gra 9= 1 9 foraa wal 9 uiita femam i 2
(a) 404 (b) 454 (c) 474 (d) 402

168. ¥Td gRI 3194 ATTHER! ol T4 1§ fopm o1 9 Frentem 6 T < 3ATaeH 3/ =T T 2

(2) TEH (b) T (c) TS (d) &
169. wiicie, STHRERT T “HHHar i fd™ 1 TR 7 § | foreeh awim o gaT 2

(a) HETHT et (b) @ fasi=

(c) Sf. .3, 3mEH (d) 3., TaRET iR

170. BT &1 H 84 TR bl G ATeeh TehIGHT 3T TR, WRA oh I9-UFATd gRI TGH fohdl T | 374

ITREGUE b Tehd T & 2

(a) 29 (b) 3 &M (c) 4 (d) 5
171. i Ssn-23 w18 ?
(a) Teuef = vy (b) ER fireH
(c) T = (d) = firet
172. T feeeft 7 o 189 S-20 e g™ 2023 % S0 W & Sit-20 S A 3 a3
g9
(a) Tvfen amoe (b) wIfeTeRid g
(c) TEUH TSH (d) ATty &
173. TH{Se Uetlthe’ Teh T O THIE ARA IR A A g frm qm s i wgaman 2
(a) STATCI (b) TETToRT (c) qehRfTEaM (d) ST
174. T & H YA -h181 T4 F7 8 | Fohg T STcehl <l EIT o HRUT e & T 2
(a) TEIdad 48 9= (b) TR AT
(c) Bfermax fea (d) & & frssr
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175. Who was elected as President of Maldives in September 2023 ?
(a) Ibrahim Mohammed Solih (b) Mohammad Nasheed
(c) Mohammed Muizzu (d) Abdullah Shahid

176. What among the following was the name of Lander of Chandrayaan-3 ?
(a) Tiranga (b) Vikram (c) Shakti (d) Pragyan

177. India launched ‘Operation Kaveri’ to evacuate Indians from which of the following countries ?
(a) Myanmar (b) Ukraine (¢) Sudan (d) Israel

178. Nargis Mohammadi, winner of 2023 Nobel Prize for peace belongs to which of the following
countries ?

(a) Iraq (b) Saudi Arabia (c) Afghanistan (d) Iran

179. Which of the following is the first Indian State to pass the ‘Right to Health Act’ ?
(a) Andhra Pradesh (b) Kerala (c) Rajasthan (d) Gujarat

180. Which of the following Section of Indian Penal Code is related to the offence of sedition ?
(a 121 A (b) 122 A (c) 123 A (d) 124 A

181. On which of the following dates Chandrayaan-3 was successfully launched ?
(a) 7™ July, 2023 (b) 9™ July, 2023 (c) 11%July, 2023  (d) 14™ July, 2023

182. ‘Eris’ is a new variant of which of the following diseases ?
(a) Ebola (b) Corona (c) Kalazar (d) Malaria

183. ‘Dakar Declaration’ is a joint statement related to
(a) Disarmament (b) Climate Change (c) Health (d) Nuclear Programme

184. Grandmaster Magnus Carlsen is associated with which of the following sports ?
(a) Football (b) Hockey (c) Chess (d) Badminton

185. The term ‘Beamer’ is associated with which of the following games ?
(a) Cricket (b) Polo (c) Volleyball (d) Hockey

186. Who among the following is the first Indian woman to win a Gold Medal in the Asian Games ?
(a) Kamaljeet Sandhu (b) P.T. Usha
(c) Saina Nehwal (d) Shiny Wilson

187. “Initiative on Critical and Emerging Technologies — ICET” launched in January 2023 is a
partnership between India and which of the following countries ?

(a) USA (b) UK (c) Japan (d) Australia
Y “ _— e oRaT




175. TR 2023 W A o AT i g T 2

(a) ISTTEH GEHAC Hicta (b) TEHE TIMg

(c) HIEHE g5 (d) 3FeIgealTe Mfee
176. I=IM-3 o AVST T T4 H T -1 919 T 2

(a) fawm OREET] (c) IfeRd (d) 9
177. T3 09 forg <1 & YRR ATTERT <Al TehTer o 70 a3 < 3ATREH ikl 31fSRT <IeTrm o 2

(a) HMR (b) e (c) geH (d) 3RS
178. T HgHGl, e AMMTd GEhR fosidr 2023 1 gy e A g fra g & g 2

(a) STH A (b) TSI I T (c) IHMFEAHE  (d) A
179. “EITE S HARHR ARI=T ITid e Irelt 92| qRdE ST e d g s are 2

(a) Y Se (b) et (c) TSRYH (d) T
180. WA <08 HigdT bl = 1 T olF Ht & Toigie | Trafa 8 2

(a) 121 A (b) 122 A (c) 123 A (d) 124 A

181. Igam-3 &1 fim= § & fopw fafer ot woperargdes et fopam e 2
(a) 798, 2023 (b) 9 JeIE, 2023 (c) 11918, 2023  (d) 14 9T, 2023

182. uiw fr=ferfga o @ forg sur) =1 =1 waT=wor 2 2
(a) S (b) HRAT (c) HIAR (d) At

183. “SHI T Ueh HTHT ENWOTIS &, FSaep1 qay fepa@i 2 7
(a) Fyefiemd (b)) TP uiEdEd  (c) @RI H (d) TRET] HRIRH &

184. TeHRET §E e w1 ey T T8 fra @ 8 2 2
(a) Pesic (b) Bt (c) IR (d) Sefiue

185. ‘& vsc A 0 4 for Wt G grafd 8 2
(a) Torehe (b) et (c) arefaTet (d) &Teht

186. 1 1 & uftrrs @l § W@l uaeh Sfia arelt v YT Afgen i g 2
(a) SHHTSIA T (b) .3 S
(c) HTEI gt (d) = foemm

187. S 2023 & 1 75 “Hgcaqul 3T I9TA SRNfferi W uget (318,41 .3.31)” v 3t fm=
T @ fopg &9 % o= grEiel & 2
(a) IR (b) F0E (c) S (d) sAreferan
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188. Which of the following countries has won the ‘FIFA Women’s World Cup 2023” ?
(a) Brazil (b) U.S.A. (¢) Germany (d) Spain

189. The term ‘Jerk’ is associated with which one of the following games ?
(a) Weight Lifting (b) Judo (c) Volleyball (d) Shooting

190. India’s sportsperson Lakshya Sen is associated with which of the following games ?
(a) Athletics (b) Badminton (c) Formula-1 Race (d) Tennis

191. In which of the following events did India win the maximum number of medals in the
recently held Asian Games — 2023 ?

(a) Shooting (b) Athletics (c) Archery (d) Boxing

192. How many members are there in a Polo team ?
(a) Six members (b) Eight members (c¢) Ten members (d) Four members

193. ‘Electra Gold Cup’ word is associated with which of the following sports ?
(a) Football (b) Table Tennis (c) Hockey (d) Judo

194. In which language was ‘Hind Swaraj’ written by Mahatma Gandhi ?
(a) Hindi (b) English (¢) Gujarati (d) Urdu

195. Who among the following never became the President of Indian National Congress ?
(a) Bal Gangadhar Tilak (b) Mahatma Gandhi
(c) Motilal Nehru (d) Gopal Krishna Gokhale

196. Who is known as the father of Civil Services in India ?
(a) Warren Hastings (b) William Bentinck
(¢) Lord Cornwallis (d) Lord Dalhousie

197. Where was headquarters of “Yugantar Ashram” located ?
(a) Vancouver (b) Lahore (c) London (d) San Francisco

198. At which session of Congress was the proposal ‘Poorna Swaraj’ passed ?
(a) Delhi (b) Lahore (c) Amritsar (d) Bombay

199. Which out of the following states did not accept the subsidiary alliance of Wellesley ?
(a) Jaipur (b) Jodhpur (c) Bengal (d) Hyderabad

200. Which of the following sports legend of India has been declared ‘National Icon’ of the
Election Commission of India ?

(a) M.S. Dhoni (b) Geet Sethi (c) Sachin Tendulkar (d) P.V. Sindhu
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188. =1 1§ fopm w1 3 “hiwhr wfgen foga =9 2023 Sfrar 2

(a) ST (b) I.TH.T. (c) ST (d) ==
189. Sk’ Wiee fe1 1 § fore weh @t @ TG B 2
(a) HRRIEH (b) et (c) dicfaicl CYRERIEEIE]
190. YA Readl e aa shgey e i A fora@ar 8 g 2
(a) TAfeem (b) Sefiue (c) BIYetT-1 (d) 2=
191. T H TV~ U URMTE Wt 2023 § R A F= 1 & fopm warat # waifees el ues S 2
(a) TremeTsht (b) Teifeam (c) T=grsi (d) RSt
192. T Uil &9 § foha Ge= 810 & 2
(a) ©: WeEA (b) 37T TeE (c) T8 e (d) WREEH
193. ‘SoiereT Mies %y’ it 1 4 fop ©oT O oafRrq wec 8 2
(a) Pesiet (b) <feret e (c) el (d) e
194. HgTeAT Tieft g “fee Tt fope s # forht g oft 2
(a) &=t (b) 3T (c) TSI (d) 3G
195. f=fafiga 7 9 S sfga wid " =1 st sl T8 wr 2
(a) ST TWTER ferereh (b) T i
(c) Hidiere 8w (d) TIITET ST TG
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